% l a Multiplicera decimaler med 10,100,1000

namn: Datum: Poing:
8,45 x 100 = 3,187 x 10 =
2,159 x 10 = 5,577 x 100 =
3,389 x 10 = 9,382 x 10 =
5,536 x 100 = 2,926 x 10 =
10, 409 x 1000 = 10,281 x 10 =
9,164 x 100 = 10,971 x 10 =
6,905 x 10 = 9,133 x 1000 =
3,098 x 100 = 2,351 x 10 =
1,645 x 10 = 10, 772 % 1000 =
8,862 x 100 = 2, 111 x 1000 =

www.snowmath.com


https://www.snowmath.com

Multiplicera decimaler med 10,100,1000

namn: Datum: Poiing:
8,45 x 100 = 845 3,187 x 10 =31.87
2,159 x 10 =21.59 5,577 x 100 = 557.7
3,389 x 10 =33.89 9,382 x 10 =93.82
5,536 x 100 = 553.6 2,926 x 10 =29.26
10, 409 x 1000 = 10409 10,281 x 10 = 102.81
9,164 x 100 =916.4 10,971 x 10 =109.71
6,905 x 10 = 69.05 9,133 x 1000 = 9133
3,098 x 100 = 309.8 2,351 x 10 =23.51
1,645 x 10 =16.45 10,772 x 1000 = 10772
8,862 % 100 = 886.2 2, 111 x 1000 = 2111
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